
Warm Up Set 11

1. The magnetic flux through each of five faces of a die is given

by                         Wb, where N (=1 to 5) is the number of

spots on the face.  The flux is positive (outward) for N even

and negative (inward) for N odd.  What is the flux through

the sixth face of the die?
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Total magnetic flux through an closed surface is 0.  Thus, the

flux through all the individual sides of this cube must sum to 0.

-1Wb + 2Wb - 3Wb + 4Wb - 5Wb + x= 0

           -3Wb + x= 0

x= 3Wb
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